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Guess Paper – 2007

Class – XII

Mathematics

Time Allowed: 3 hours




         Maximum Marks: 100

General Instructions:
(i) The questions paper consist of three sections A, B and C. Sections A is compulsory for all students. In addition to section A, every student has to attempt either Section B or Section C.

(ii) For Section A.

Question number 1 to 8 are of 3 marks each.

Question number 9 to 15 are of 4 marks each.

Questions number 16 to 18 are of 6 marks each.

(iii) For Section B/ Section C.

Question number 19 to 22 are of 3 marks each.

Question number 23 to 25 are of 4 marks each.

Question number 26 is of 6 marks.

(iv) All questions are compulsory.

(v) Internal choice have been provided in some questions. You have to attempt only one of the choice in such questions.

(vi) Use of calculator is not permitted. However you may ask for logarithmic and Statistical tables if required.

Section-A

Q. 1. Show that the matrix 
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Q. 2. Using the properties of determinates show that:
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Q. 3. An urn contains 7 red and 4 blue balls two balls are drawn at random with replacement. Find the probability of getting

(i) 2 red balls

(ii) One red and one blue ball

Q. 4. A class consists of 10 boys and 8 girls three students are selected at random. What is the probability that selected group has

(i) all boys

(ii) 1 boy and 2 girls

Q. 5. Evaluate:
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Q. 6. Evaluate:
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Q. 7. Represent the following families of curves by forming corresponding differential equation (a, b parameters)
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Or

Solve: 
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Q. 8. Solve the differential equation
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Q. 9. Using properties of Boolean Algebra prove that:

If 
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Or

Examine the validity of the argument:
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Q. 10. Compute:
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Q. 11. Differentiate w.r.t. x from first principle.
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Q. 12. Differentiate 
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 with respect to 
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Q. 13. The length of x a rectangle is decreasing at the rate of 2 cm/s and the width y is increasing at the rate of 2 cm/s. When x = 12 cm and y = 5 cm, find the rate of (a) the perimeter (b) the area of the rectangle.

Q. 14. Evaluate:
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Q. 15. Find by using properties of definite integrals.
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Q. 16. Solve the following system of equations by matrix method.
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Q. 17. An open box with a square base is be made out of a given quality of cardboard of area c2 square units. Show that the maximum volume of the box is 
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 cubic units.

Q. 18. Find the area bounded by the ellipse 
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Evaluate the following. Definite Integral as limit of sums:
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Section- C

Q. 19. A car manufacturing factory has two plants X manufacturing 70% of cars and plants Y manufactures 30%. At plant X, 80% of the cars are rated of standard quality and at plant Y, 90% of quality. What is the probability that it has come from plant X.

Q. 20. The number of complaints which a petrol pump station receives per day is a random variable having a Poisson distribution with mean, 
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(i) Only two complaints on any given day.

(ii) At most two complaints on any given day. [take 
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Q. 21. Solve the following problems graphically

Maximize 
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Subject to the constraints.
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Q. 22. A person consumes two types of food A and B every day to obtain 8 unit of protein, 12 units of carbon and 9 unit of fat which is his daily minimum requirement. 1 kg of food A contains 2, 6, 1 units of protein, Carbohydrates and fat respectively. 1 Kg of food B contains 1, 1, 3 unit of protein. Carbohydrates and fat respected Food A costs Rs. 8 per Kg while food B cost Rs. 5 per kg. From an L.P.P. for minimum cost.

Q. 23. Three person A, B and C are partners in a business. They invested their capital in the ratio of 20:15:12. A withdraws half of his capital at the end of 6 months and two third of the remaining after next 3 months, B withdraws. One fourth of his capital after 9 months after a year they divided a profit of Rs. 18,910 in the ratio of their adjusted capitals. Find each person’s share in the profit.

Q. 24. A company establishes a sinking fund to provide for payment of Rs. 2,50,000 debentures maturing in 4 years. Contributions to the fund are to be made at the end of each year. Find the amount of each annual deposits if the interest is 18% per annum use (1.18)4 = 1.939

Q. 25. In the production unit of a firm it is found that the total number of units (x) produced is dependent upon the number of workers (n) and is obtain by the relation 
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, the demand function of the product is 
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. Determine the marginal revenue when 
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Q. 26. One bill of Rs. 5,000 legally due on June 13 and another for Rs. 4,000 legally due on August 25 are both discounted by the brokers on April 1. If the difference between two discount is Rs. 24. Find the rate at which the discount is calculated.

All the Best for your Examination
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